Multiplicar Tres Polinomios (B)

Ot

Simplifique cada expresion.

- 62% (=5 + 9)(62° + 91%)

- —75%(25% — 35%)(—9s* — %)

C9PH(=9f° + 5N (=2f° +57)

8m*(3m + 3)(—3m* — 4m?)

C—Tt3(=3t = 5)(=Tt* + 1)
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Multiplicar Tres Polinomios (B) Respuestas

Ot

Simplifique cada expresion.

- 62% (=5 + 9)(62° + 91%)

— —1802° + 54a” + 486"

C—T75%(25% — 35%)(—9s* — %)

— 1265t — 17550 — 21¢°

35 9F3(=9f° +5fY) (=22 + 517

=162 fM — 495 f10 4 2259

- 8m*(3m + 3)(—3m?® — 4m?)

— —72m®% — 168m" — 96m°

T3t = 5) (=Tt + 1)

— —147t° — 224t + 35¢°
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